nMaaH M3 adini

(Sequence and Series)

¢ Natural numbers are the product of human spirit. - DEDEKIND **

9.1 gfHar

aifes feu, mae ‘magy’ & <93 Au9s Uardt &t 397 a3t Aet 91 A WAt Jfde ot fa ayg &bt
TAZAT (objects) & niggH feg ety d13T faprr J 3* afoe & 9= J fa
Ao & few yars B3ty a1 farrr 9 fa fegst & ufosT Hee, g7 Heg, Star
mwﬁemuﬁ?@mwﬁmew ‘T SY-JY AN HRY AT
FITIHT T AGHAPHT WggH T 3967 ¢ I& | TE UsdHT A §a 43 feg
Myt gaer &3t A<t 3, g% AST Hate fEd wiggH = faone aa<t 71 fam
TAZ < Weet I8t i3 magH g=Tget 7| HaHt fafenr=t € aet 439t f<g
WEIH T QUaT HI3<Yse T

YT SHfEMT (Pattern) 'S MUTfdg M&IH, B3T (Progression) My=Tg<t
31 fusst it f& it wiaarfefaa st (A.P) T3 Uz 9a T7 | fem wfmrfe
feg niaarfefaa 33t (A.P.) 979 39 U 9997 995 © 378 578 MHT, Madrfe3a

HoHs (A.M.) farrfest Wours (GM.), wiadifefsa Hows w3 farfest E2

er?ﬂau, feﬂfrn@—gmg WWW?H, n uTﬁgsy Fibonacei
A=t @ F9ar €7 743 M3 n Yig3d Aftmiet € Wt € A3 e &1 sftnls (1175-1250)
Fatar |

9.2 M&IH (Sequence)

g, 3o feubt Gergget '3 fegrg adte —

H??E@lﬂgﬂwwvmsowa g fenmast € 300 Arst fET yg=eat mags H3™-fuzT, e
Tret, ygereT-useret wife & ifir usT g9s Bet faar T |

¥ Wb @t o Afer _ 300 _
30

ufast, gqt, St , TRt ISt € set fenast € ya=at &t Aftmr guea: 2,4, 8, 16,32, ..., 1024
3| feg Afaret wiggy T fsare gt 0%, feg »it afde ot

10 § 3 &% 9791 foe AN FY-JY F3eT (UTT") € I7E YU3 gHT 996 '3 feud aaie | fem
yfgr feg mirt gH=Ta 3,3.3,3.33,3.333, ... »iffe YUz gae It | feg gares & ffa niggy e fsau=
gav 75 | feq miagH &9 7 Aftrer W@ Ehrt g5 §T fere ue (Terms) I€ I8 | miggH € uet & wAt
ay, Gy, Ay, ey A, ... MTTE ETH TIATEE TT| TIT UE 578 Bait Jet Afeprm § ye-»ix afde 75, ue =r
FETS €HE! J | MEFH €7 n&T UT, n< RS § eanger d 3 fem & a, It waATemT FeT 3, fem &
WMEAH T "™ UT (General term) AT fommua e afie I5 |
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femr 3g7 femast € ya=a™ © niggH € uet § few 39 sanSe If|

a, =2, a2—4 ay; =8, ..., a,,=1024
fgﬂ' 3§T Iéddd I HT ET&F Ue'ddd
a,=3,a,=33,a;=3.33, ..., a; = 3.33333, Wrfe

@Unmf;rﬁrfe?we%ﬂfuwﬁﬁrgaﬁra @Haﬁrﬁ-rgnmarfa—eam@mgs—crg
ygeHT T MEgH g wigad 3, fafa 8 few 10 ue g& (Ftfirg Afem) |

e wiggH, WAl misgH my=ger J, fan feu uet <t Aftwr Mg a7 9= 1@ gas © 39 3
€uT TIAT {5339 RSB T wiggH f&a WHIHI MEIH T, WRHI & »iag fan e Jet %3 &t |

niaHg, feg Agw ger 7 fa vigg & Sy-24 yet § wonge © faur § div arfefsa g9 evmer
E!HFITfE"?FﬂTHO('d'UIb’e'ddeE!'EH '3 yfage fang ffuvret @ wiggH 2,4, 6. 3 fegg a4 |

feg 1=2=2x1 a,=4=2x2

a;=6=2x3 a,=8=2x4

ay; =46 =2 x 23, a,, =48 = 2 x 24, W3 fen 3g* 391
A% feg wrt Sue It fad wiggH €7 =T UE a, = 2n Bt 77 Ager 3, 7 fa o g yfgsa
Frfuvrrrzrlf‘aﬁawmwﬁﬁsrﬂfwwe*ewwms f‘%’?ni"U?’E!’FEEI’?a‘a =2n-1egufes
fagfuz stgr A maer g, fig » &x yigsa Afienr T
et @9 Aftmret & 39319 1, 1, 2, 3, 5, 8,.. € Jet UTH sHaT feuret &4t feer, Y3z wiggy €f geaT
ew@z%ﬁéuweame’rwna@ra e
a,=a,=1
a3:al+a2
a,=a, ,+a, ,n>2
fer nigg & f&8aTaT (Fibonacci) MagH afde 75 |
WETH ATt & wEgH 2,3,5.7,...., fe n2t nige wifemim &7 et 539 a4t 9| for 377 € vz §
g5 o fagfug aisT A Aaer 71
mm@mﬂﬁmﬁ%?aﬁmmmlwmﬁmmem

Maﬁwaﬁfmwwmﬁmwe’r@ﬁewaﬂs’rwnaﬁaﬁw%az,a3, & IHET
9 Ad |

Qusaz Jgt € wug Emrravm?fesrm(funcuon)eaa '3 & Age It famer yig
(Domam)LF‘fQ'BHH'fH?JF%TETHHUUFIT@H'ET@UHHU{l 2,3, k}el{aﬂ?@a—élaﬁwm
g&& (function) ¥ FF a, ¥ B a(n) T Y& J@< I |
9.3 &3t (Series)

He 88 ay, a,, ay,....a,, fE37 faprm »izgy 3, 3 feving

a, +a,+ay+,...+a,+..
Tafag viggy 3 9t 3t »iy= @<t 71 3t mtfig A7 vt 3=2ait, Ad9 MaaH gH=Td Fifug A
WHIHZ T 1 31 & maHg AU (Compact) 3V feg wamfenr ater 3, fAndg fanr Aa3 afde & | fam

el et g Fa3 Y. (framm) & year ger 9, fam e migg T AgaT I fem 3g7 &3t ¢, + a4, + a4, + ... + q,

o ARy gu ) a, T

k=1
fEust— w3t T yaar, 73 3t a1, Adr fagfug A et atgr AT J18e0aes €39 3 1+3+5+7
Wwers’rﬂﬁﬁ-rgﬂfrmﬂ?m HETETFB HYE AHT €7 Y§dT Ja¢ J7, 37 fen e »igg F Afur
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WMEIH WM JIT
FIAUST T Az T YUI It 7, fem et ev |53 16 T
g< wiAt g% Gergast '3 feug adie—
Gegae 1 : I& oy migAg Ufggmz 9da wiagH © ufad 35 ue fau |

n-3
i) a,=2n+5 (i) a,= 1
3 () g a,=2n+5
n=1,2,3, 34T 3 WAt YUz Jae It
a,=2()+5=7,a,=9,a;=11
fer et 8atic ue 7,9 M3 11 I& |
.- n—3 1-3 1 1
(11) fE'H'a”:TBTCI]:T:—E,CIZ_—Z,CI;ZO

Gegaz 2: a,=(n-1) (2 -n) (3 + n) T TIAT MEIH &7 20" Ue U3 &4 |
9% © n=20,335 3 A YUI JIe It
dyy = (20— 1) (2 - 20) (3 + 20)
= 19 x (= 18) x (23) = — 7866
Geee 3 : Vs B8 wadH a, 35 f&Y nigng ufeeas I
a, =1, an=an_1+288"]'n22

WEIH € Ufg® U ue U3T a9 W3 Ha13 Het f&d |
9% AF 9%

a=la=a+2=1+2=3,a;=a,+2=3+2=5,

a4=a3+2=5+2=7,a5=a4+2=7+2=9

fen Sgr MagH S UfTB YA UE 1,35, 7 M3 9T M3 A A&t 1 + 3 +5+7+9 +... J|

| mfemm 9.1 |
YA 1 F 6 3T MagH € €3 nT ue 3 99 »iggH € ufgd Ud ue fau|

n —
1 a,=n(n+2) 2 a,= 77 3. q,=2" 4. an=2”63
n+5

5. a,=(-1y15m1 6. a,=n
YA &: 73 10 3a € niggHt feg gda &g wanrfenr ue uzT a9 famer net ue fEar 1

n? _ n(n-2)

— . _ . _ -1,3.
7. a,=4n-35a,5,a,, 8. a,=_—3a, 9. a,=D" 1n,a9 10. a, i3

n 211 ’
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Ay
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UHS 11 3 13 39 99d MagH € UH UT &8 W3 /a3 Het U3 d9

11. a]=3,an=3an_l+2Vn>1 12. a;=-1,a,=

a

n—1

n=2
n n

13. aj=ay=2,a,=a, ~1,n>2

n—

14. fe8=aT (Fibonacci) MagqH 36 f@d nigne ufeetag I 1 =a, =a, M3 a,=a, ,+a, , n>2

g st p=1,2,3,4, 5B UITIT|
ai’l

9.4 nigarfefsd ®3t (Arithmetic Progression (A.P.))
g ufgsT Uz, I8 H39T M3 IS § e JIE |
fea wEeT a, ay, ay,..., a,,... & WIS wigen AT Hegiesd Bt faor AT I Add a,, | = a, +
d neNa & UﬁWU’E”ﬂB’HfE’G’U’G’d?YAPE’TWWafﬂ?U?TI

V& 8 f€a rigarfefsa 33t (pirfez gu f&9) famer ufgs™ ue @ M3 AT W=FT d T, a, a + 4,
a+2d, .3
3t fen #iqarfefaa &3t @ vt yg (i qU A ferud@ aW) a, =a + (n— 1) d J1

WA WA 3T FIT Tt iy feramaT=t @ Udhye a9 Aae I7—

(i) AFd fan »iaarfefsa &3t € 9o ue S fEa Afgg »ia Afzwyr A< 3T 5= MagH
naarefaa &3t 9t J=a |

(i) #a9 fom »igarfefsa &3t € g9 ue 9 fea Afgg »ia wefenm A= 3T 5= MggH
naarefaa 3T 9t I |

(i) Hag fan raarfefsa 3t € I9a uT § Afag 5% e A3t A= 3T 5= MaIH »aaref3a
B3t It g=art |

(iv) wad fan niaarfefsa &3t € g9a ue & fan g fAsa (non zero) AfEE Ma &% a1 FI3™ A=
3T 5T MFEH Maaref3a 3T I I<ait |
g wirt rigarfefsa &3t B2t Jo fou Aa3t e ysiar Jatdr :
a = Jfa®T ye, | =»mudt ue, d = AigT %39
n = yat o Afynr
Sn=A.R€’nLI'€+€Tﬁ'S
Wo®@aa+da+2d...,a+n-1)dfEITAP T, 3

Il =a+n-1)d

S, =§[2a+(n—1)d]

wiFft 5y e s,1=§[a+l]
W g3 Gergdst Sue T
Gergae 4 : A9 fan viaafef3a s e mEr Ue n M3 nUe m I, fH8 m 2n J 3T prUT U3T I |
I . s 3% a,=a+(m-1)d=n
R . (D)
m3 a,=a+n-1)d=m
.2
(1) M2 (2) § 9% I9& '3 wiAt Yu3 Jae It
m-n)yd=n-m Ard=-1 .. (3)

-~

m3

a=n+m-1 e (@)
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fen met ap:a+(p—1)d
=n+m-1+(p-1)(l)=n+m-p
fem3grpsruen + m—-p I

Gegge 5 : Aq9 ffa AP € n Ut @7 73 nP+%n(n—1)Q,fﬁ€er§Qﬂfaan$aa?§,3+Wn$33
U3t J9 |

I : %B’@al,az,...,anﬁ%{'%ﬁﬁﬁA.Pﬁ'I?

1
S,=a,+ay+as+.+a,  +a,=nP+ En(n—l)Q

fem Bt S,=a;=P,S,=a;+a,=2P+Q
fem Bt a,=S,-3,=P+Q
HST W39 d=a,-a,

=(P+Q) -P=Q, o fgar J|
@m6:@mmﬁ@nL@@ﬁ?€TW(3n+8):(7n+15)?“@3’5*@12%@
g QU3 U3T dJd |
3% H%ss@)al,a2v@d1,dzwuhﬁm§gﬁmmﬁ@mu€n@W>ﬁWaw

3T {3t ¢ A3 WEHT 'S a8
ufg8tAP. € nuet e a3 _ 3n+38
gt AP.€nueterds Tn+l5

g[za, +(n—1)d,]

_ 3n+8
Hr %[2a2+(n_1 )dz] Tn+15
. 2a,+(n—1)d, 3n+8

g 2a,+(n-Nd, Tn+15 (D
ufg®t AP.ET 128 ue  a,+11d,

ge gAtAP.E 12T uE  q,+11d,
2a,+22d, 3%x23+8 5 L
2a,+22d, Tx23+15 [(1) 9 n =23 Ju= 3]

forr mgt a1+11d1_ufax°rA.P.€T126+uzr=l

a,+11d, T AP. T 1287 UE. 16
I BT HEUI T 16T |
Gurgae 7 : foa fomaat €t ufg® A& & Wies 3,00,000 JUT WI €7 & »iEs 10,000 JUE IT IS
aI& 19 Arst I Fut I 3T OF waT 20 AT fEY YUz JiSt 9% Mies € I u3T a4 |
d% T it vigarfefsa 83t (A.P) YUz 9w gF fam feg a = 3,00,000, d = 10,000, M3 n =20 J
A3 € H39 € 293 J9d #HT U3 e It
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2

0
Sy = > [600000 +19x10000] = 10 (790000) = 79,00,000

fem et 20 AT € 93 IF femaat 79,00,000 IUT I& MHES U3 JdeT J |

9.4.1 »aaifefsa HT (Arithmetic Mean) : € AfgdTet o M3 b &3t 95 | feast € Afprret fegag
fea 39 Aftmim A fem 397 &€t fd o, A, b vigarfef3a &3t 9= 37 forv 3g7 &t Afarr A S aftmrst a M3 b
T raaifefsa Hous afde 7« | fer Afast feu forrs fe€ fa 73 as;

a+b 5
2

A-a=b-A, I=<A =

o N o < o . - - - a+b
niaarfef3a Ho (AM.) & € Afed=T ¢ W3 b & WA

T gu &9 wanrfen™ 7 Aaer J1
GegaT €39 T4 M3 16T AM. 10 I fer 3g+ it fea Aftrrm 10 § 4 M3 16 e o fee Fu a 4, 10,
16 wigarfefaa &=t (A.P) €t 39& a1t J1 g< fea yms I fa &3t gebnt € Afipwret € fegae €
7 fen 3 < ¥ia Jue 3 A.P. f3ma I Aaalt ? fonrs fe@ € Afimr=t 8 M3 12 & 4 M3 16 fegard due
'3 4, 8, 12, 16 MEFH W3 BIT (A.P) g=<T J|

W™ 39 '3 &3t € Afenret o M3 b fegag faatt =t Aftmret & Ju o wigarfef3a &3t (AP)
f&g eanfemT AT AaeT J|

HEBG AL ALA,, A, a3 bfegaa Aftrret fer gt as fT a, A AL A, LA briaaTfefsT
B3t T

feg b n+2)TUe T, I<, b=a+[(n+2)-1ld =a+(n+1)d

J= b—a
n+1

fer Fyuz ger I
few 3g7, a M3 b <9 n A=t I3 fou Mgng g5

b—a
n+l1

Al=a+d=a+

2b—a)

A2=a+2d=a+
n+l1

3(b—a)
n+1

As=a+3d=a+

nb—a)
n+l

An=a+nd=a+

Gemee 8 : 6 Aft=t U3T J3 fAgt & 3 M3 24 fegad due '3 #iggH feq #aaref3a 3t g A< |
95 NS BRALA, AL A, A M A, 3 M3 24 fegamg & Afrret
fem 39T 95 fa 3, A, Ay Ay AL Ay A 24 AP T f8,a=3,b=24,n=8

fem®et, 24=3+@8-1)d, 3" d=3



MEFH M3 FIAT 153

fem 3g Aj=a+d=3+3=6; Ay=a+2d=3+2x3=9;

Ay=a+3d=3+3x3=12; A;=a+4d=3+4x3=15;
A5=a+5d=3+5x3=18; A6=a+6d=3+6x3=21.

few yarg 3 M3 24 € fega9 6, 9, 12, 15, 18 M3 21 AfeH=T I |

W N =

o 0 g9

10.

11.

12.

13.
14.

15.
16.

17.

18.

| wifgnr 9.2 |
132001 3 2T AYI& Hftpr=t &7 §3 U3T 9|
100 3 1000 fegarg Guat Adtw Yfg3a Aftmier ev A3 U3T d9 7 5 & IIed 3% |
fo wiaarfefaa &=t (AP) Trufagrue 2 J1Ee Ui tr ueT ev A Mo A uer € Ag ©r
fea ggret 71 wan§ fa 20=t ug 112 J1

. eafEfaT & (AP) -6, 1 5 . efddusteras 257 ?
2

foiriaa=faa &2t (AP) & per ue L wiF gerue L 5, 3 o s fa ufsd pguererag L pg+1)
ﬁ,ﬁﬁ'piqﬁ'l q p 2

HSd AP 25,22, 19, ... € g Ut AT H3 116 J I Mt Y€ UIT a4 |

€H A.P. € n Uer @7 §3e® U3 J4d fARET kSTUe S5k+ 1 J1

Hod fai A.P. @ n Ue™ @7 93e& (pn + gn?) I, fA8 p M3 ¢ Afgd I5, 3T ATST WZT UIT A9 |
éﬂm@ménw%ﬁmwm(snw):(9n+6)?rs+few%18%ue+w
MEU™S U3T ddJd |
ﬁw@ﬁA.P%uﬁﬁpW@ﬁa,uﬁ@qw%ﬁséwﬁ%?m(p+q)ue+wﬁsew
Uy3r dd |

fomr AP. T Ufg® p, g M3 ruer T a3 ST a, b3 ¢ T

o b .
ST s L(g—r)+=(r—p)+=(p—q)=0 T
p q r

fa/m AP. @ m W3 n Uet @ 83 € WgUI m? : n? J 3T fey@ fa m& w3 nS et @ Mgu3
2m-1):2n-1)3J1
far AP Enuer e a3 3n +5n M3 mSTUE 164T T mE HE UIT T |
5 M3 26 fegarg mfaadt Ua Aferr=t ©7 3T fa YUz niggH fea AP 39|
- - . N "+b" 4 N -
Had a M3 b T HAINSI3T HT (A.M.) f_]—bn_]asﬁnen_mwaal

a
m Afer=t & 1 w3 31 € fegad due '3 YUz miggH fead AP. I M3 7= w3 (m — 1) ¥ Afeenr
THSUI 5: 9T me H& UST ST |
fea fenast gam e gar3s 100 JuT & ufast fans &% §g d9er J1 7d9 €9 99a fansz feu
5 guE Y3t HatsT =ur@er 92 37 30 = fanz €t gt fast J=ait |
e g9gH € € IHSTI MTIB dST ET 39 5° T | Had AT 3 g o< 120° I<, 3T gg9d et garet
ot farest usT a9 |
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9.5 fAanest &3t (Geometric Progression (G.P.))

g I5 fou mggHr & Sie :
(@) 24.8.16.... i) ~. =~ L =L i) 01..0001,.000001...
9’27781 243"

W%WWEWWW@%m?mW%W@@#WUﬁ@Wgéz
 gat fea femm g feg Sue 75|
() fEmd as a, =2, 2=2, 2 =2, % =2 wJ fei 3t

a a, as
1 a,_-1ay _-I

(i) ffRe i e Tfg =—, 2= 3 - _=_n1*3f8¥r3§v
9aq 3'a 3 a; 3

f’sﬁrs?fe*&@far(iii)féﬁuvfaﬂmnﬁéu%aw?fwéfuwfawfaaﬁaﬂfaﬁf%qmw
& €3 d, 99 Mo ue fusd e &% Afas mgurs f9 fuer 31 (i) f<9 feu rfag mauz 2 9 (i) i<

1 a ~ N -~ o . o=
fear—g J (iii) T feg Afag »iau3 0.01 I 1 AT niggH & fanrfest miggy & franrfest &3t afde o
w3 Ay fe9 GP. fafunr afer 71 G wisgqH ay, a,, a, ..., a,, ... & frrfest &3t fagr Ater J, A9

-~ EN —_ = -~ a o EN -~
Jod uw Jig-fed (3= fieg &7 3&) mI L= r (AfEg W) T1k > 1 @ BT
a

a, = aV&E '3 GP. YUZ &€ Tt : q, ar, ar?, ar’,...., {HE o, GP. €7 Ufg®T ye w3 1, GP. €7 HigT
wMEUTI T (i), (i) M3 (iii) fS9 &3t GP. & gH=9 2, _§,0.01Wn@r3%|

fAe fa Maarfefsa w3t fee, 87 IgF fmfes] &3t e net ye g <t mifir At farfest &3t € nugt
T Hg, #mfevmmuvw & Tast 739 75 ggaT myur 7 | fegst g9t € AgrusT wiAl ard 3T feg
g |

feust H39t € 7% Jo fay Aa3t €f =93 agfar |

a = Ufa®T U, r = ATST™ MgUT3, | = Mydt U,
n = yat @t farest

S, = Ufa® n uet e 73
9.5.1 G.P. @ wnf ye & [emmer Ue (General term of GP.) W& B8 fea G.P. famer ufgsT ue Ji9-fAsg
@ M3 AT w3 ¢ I & feudie | fen € g3 uet § fau | g ue, ufad ue § AS miau3 r 578
T I T YUI IET I MIES a, = ar;, feH 3T ST UT a, & r FH I JI& I YU deT
MIES a, = a,r = ar’ M3 fen It ot I&T fegt § 3 g9 JT ue foue I

ufgsT ue =a1—a—arl I,E!?lTUE'—az—ar—arz‘l
I ue —a3—ar =ar !
98T uw —a4—a73—ar4 I
REURIC =as=ar* = ar~!
at It fed aHsT @9 g ? 162T U ot g=drr
) ag = ar'®! = gr1>

fen et syaT TeR@er I fd GP. & =t UT a, =ar"”' T vee3 fanrfest &3t few gu few faut
A Aot J
a, ar, ar?, ar’, ... ar'" =Y a, ar, ar?,...ar ... ; §HS9 B3 AIHI 9= AT mAHI 9= |
BFa+ar+a?+ .. +ar ' A a+ar+a*+ ..+ o+ FHTT 3T AHI 3= A7 vt
frfest &3t =@t 91
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9.5.2. G.P @nuet @ A7
W& B8 GP. & ufgsT uet, o M3 AgT »gu3.r JIGP. € nUsf @ AZ § S, &8 faye of 3t
S,=a+ar+ ar? +..+ ar! .. (1)
Afast 1999 r=1,H’"§’§(’5‘Sn:a+a+a+...+a(nU€)=na
AfEst 2799 r# 1, (1) & r &% IS I96 T WHT YU Ja€ I
rSn:ar+ar2+ar3+...+ar” ... (2)
)& (), fFRweGes I yuz Fee€ It (1 -1 S, =a—ar" =a(l - ")

. o = a(l-r" . a(r" =1)
fer Fyuz ger I s, =40=r) a S,=—
s 1-r r—1
Ewags 9: GP. 5,25, 125 €10 M3 n=STUS U3T T |
95 f88 a=5M3 r=5383, a,,=5(5)'""=505)°=5"
M3 a,=ar!=55)""=5"
Gega= 10 : GP, 2,8,32, ... € fagsT Uy 131072 9 ?
7% Ns B 131072 SR GP. e n=t ue JIfRF a =2, r =47 | fom &€t 131072 = ¢, = 2(4y" ' A
65536 =471
fer Fyuz ger I 48 = 4n-1
fer®etn—1=8,9<, n=9m3g3 131072 GP. €T 9=t yg J|
Gerggs 11 : GP. € JHaT UE 24 M3 62T Ue 192 J | fem & 10=T ue u3T d4 |
i% 8, a, =ar’ =24 (D)
w3 a,=ar’ =192 . (2)
(2) & (1) &% F91 96 '3 AT U3 Jae I r =2
r=2% (1) fRe Jue It yuz Jae€ It a = 6.
fem wet a,,=6(2)°=3072

€eag= 12: GP. 1+§+g+...éuﬁﬁnuﬁ?ﬁ3m§uﬁﬁ5w?ﬁswa€n

2
ar. ﬁﬁa:lh@rzgfgﬂ'aﬁ

“?:”Jl@ -]

3

© e - 2’ 211 211
H ) > = — — =3X—=—
ferm 393, S, 3{1 (3):] 3 sl

©pem e m e a o .. 3069 _ .
,...efawwe’rxsawnfeawwnssjaﬁre?
- g 3009

1
PSR ETT)

€@ea=s 13: GP 3,

>

N | W
AW

i Vs sQ nuet St ages JiIfesT g faa=3,r=
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O R S _ad-r"
- " 1-r
3(1 i)
fewr et 3060 " o =6(1_Lj
512 L 2"
2
- 3069 1
3072 2"

. 1 3069 3 1
Hr — = 1- = =
2" 3072 3072 1024

Cu 21 =1024 =21, fAA I n=10 YUz ger J|

- < po . . 13 o o 8. - _
@mM:G.P.T—!UfUB'fB?:TUETETHSEUMEGJET—IUIWWWEU’EW&HI

o a P .
9% 48 B9 —, a, ar GP. € Ufg® {35 ue &5 3°
r

a
—+ar+a=
r

13
2
E (Ej (a) (ar)=-1
r
2) T, AT YUI T T > =- 1, 9%, a = - | (I A U B 'I)

a=-1% (1) feg due '3 At yuz go< ot

1 13 .
———1l-r=—at12/2+25r+12=0
r 12

- N . - - . . 4
feg r feu € w3t milgge 7 fAn § I8 d9& 3wt YUz gae of r:—%?-l"'—g
mwGP@’%ﬁu’e’%,_1’%9r=§wn{g %’_1’ %’r = ?Bﬁwl

Gewas 15 : M&a@H 7, 77, 777, 7777, ... € n UST S A3 U3T &4 |
7% : feg GP. &t T feg <t fow & Jo fou €91 5% fou & G.P. <9 wanfenr A7 Aaer J1
S

n

7+77+777 + 7777 + ... n Uet 3

[94+99+99949999+ ... nueT I|

[10-D)+(10* =)+ (10> =)+ (10* = 1) +...nuet Jq]

Ol vl

(1)

.. (2)
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[10+10% +10° +...nuet I) — (1+1+1+...nuet Jq)]

o |

7[10(10”—1) } 7[10(10"—1) }
——————n| =—|—————n
9L 10-1 9 9

Gegge 16 : fEa femast € 2 war-fugT, 4 Ter-Tret, 8 ugTeT-uzTe! wfe J& | Enet enst
ISt 3 ya=aT < farest usT &3 |
J% 88 a=2,r=2mM3 n=10

- e men a(r'-1)
FE'ETEEH%H?WUES”=

r—1
AT yU3 J9e It S10 =221 —1)=2046
fem et femast € yg=ar &t farest 2046 T

9.5.3 faHesT HT (Geometric Mean (G.M.)) € TETIHT AftpH™=T o M3 b =7 fadrfeadt o (GM.) f-rftmr\/g
J | fer ®et 2 M3 8 = fafest W 4 T 1wt Sye IF fa 3w Aferet 2, 4, 8 fanrfest &3t € gH=9
e 5| feg € fAfvret @ fanfest Wa & gaer & fenmitads (Generalise) € % u@er 31 &
TETINF AfgT=t ¢ M3 b fEIbm arehnt g& 3t fegst fegara feeT migHa Aftrr=t 39 Aawe oF 37 fa
YUz MagH fea fmrfest 33t s« A< |

Y& B8 € gassHa Afiet o M3 b € fesad n Afgw=t G, G,........,.G, few 397 75 fa

a,G,,G,,G3,....G b €T GP. T I fen Bt b, (n + 2) T U= J, A8 3B

1 2 3

few w2t G1=0r=a(2jn+l’ G2=ar2=a(2jn+l G3=ar3=a(2jn+l

G,=ar" =a(2jnﬂ
a

Geaae 17 : fed fadhut {35 Aftret uzT a9 fAgT & 1 w3 256 € fegad due 3 magH 8T GP. 3= |
75 . "5 88 G|, GG, 13 256 € fegag 3 Aftprr=t few 39t 05 fa
1,G,.G,.G; 256 T GP. T
fem wet 256 =r* 3 r = = 4 (A=H THIfT HS B I)
r=4%e,AS B G, =ar=4,G,=ar’ =16, Gy = ar’ = 64
fen 3g° r = — 4 B Afer=T — 4,16 M3 - 64 T
fem et 1 M3 256 € fegara it 4, 16, 64 Aft=T guiar 3T 7 gfew™ niggH GP. 3=ar|
9.6 A.M. (Waafesd Ha) M3 G.M. (fmifest Ha) feg AET (Relation between A.M. and G.M.)
" B AMI G & faIhut IetT uasTand Aferret ¢ M3 b © fegard qHed A M. W3 GM. I& fen set

A:“;b w3 G =~Jab
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Jfes

fen 3gt A s d®
A_G= a+b_\/E _ a+b—2x/%
2 2
2
(Va )
=——20
2

(1) 3wt A > G AT Yu3 da< J7 |
Gurgde 18 : HAd & UEIHT AfeprT=T 0 M3 b @7 AM. W3 GM. HIT 10 M3 8 T 3T AftpyT U3T 99 |

s ffary AM=2 g
"3 GM. = Jab =8
(1) M3 (2), 3 Wt U3 dae It a+b=20

ab =64

3)MI (4) T a M3 b T THIT IIAHA (a — b)? = (a + b)? — 4ab 9 Fu= '3

|t

(a — b)* =400 — 256 = 144
a-b=%12

(3) M3 (5) & I& dd& '3 MHT YU Fae It

a=4,b=16"Ata=16,b=4

fen 39t a M3 b A=t U9 4, 16 AT 16, 4 T5 |

ok
.

Nk

| wfemm 9.3 |

p 555
"2'4°8°
G.P. €7 1227 Y€ U3T Jd fAAET 82T UT 192 M3 AT wgu™3 2 J |

fai GP. € 527, 82T I 1127 UT JHITT p, ¢ M3 s I& feu @ fa ¢ = ps T

féar G.P. &7 99T ¥ @AT gH UT € 2991 I w3 UfgsT ue - 3 T | ferer 7= ug usT 99 |
MEIH & fausT ue

(@) 2,2v2.4,..:1283T? (b) /3,3,343,...:729T 2

G. . @ 20T MI n=TUT UIT T |

1,...; ! J?

11
© 39277 19683

- N . . 2 7
x @ fan ¥ et Afgret Bt GP. 35 ?
yHs 7 3 10 3F 339 GP. T &3 ue 3q Ag U3 &9
0.15, 0.015, 0.0015, ... 20 y=t €7
J7. 21,347, . nuEtEr

l,—a,a® —a® ..nUater (@ad a # - ).
B0 X, L onueter(Add x = £ 1).

(1)

(D
. (2)

(3
(4

. (5)
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12.

13.
14.

15.
16.
17.
18.

19.

20.

21.

22,

23.

24.
25.

26.

27.

28.

29.

30.

32.
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o 11
W& UITad 1y (2+39)
k=1

féa G.P. € ufa® 35 uet evdz | I »3 Quat S g | TI AT »EU3 »3 UE U3T 4 |

GP. 3,32 33, ... € fas uet A7 73 120 3= ?

fea G.P. @ Ufud f3s ue em 853 16 T W3 wa® {3 uet e 83 128 T 1 ufasT ue, AigT Wgus w3
GP € nUer eT A U3 &9 |

e G.P. &7 ufgsT ue a = 729,727 U€ 64 37 S, UIT T |

S GP.u3Tad fAre ufgB e uer e A —4 w3 UAST ue SlH UE ET 4 JIeT J |

A9 fan GP. T 997, TA= M3 16T UT JHS T x, y M3 7 I& | THT ST x, y, z GP. fRT 75|
MEFH 8, 88, 888, 8888... . & n Uet & AS UIT IS |

MEIAH 2, 4, 8, 16, 32 M3 128, 32, 8, 2, %%mw%mma@n@w?ﬁawaﬁl
feu fa masaW g, ar, ar?, ..,ar" ' M3 A, AR, AR, ... AR"~ ! € FdI3 UTT € JS56SS 35
gfEm™ MEIH G.P. I W3 fer € ATsT Wgu™s u3T &9 |

wfAd 979 Ug u3T &3 A fanfest 83 (G.P) few I, famer Stwer ue ufed ue 3 9 fumzs gar uw,
SgUT 3 18 U< |

fam GP. €7 p=t, =T W3 rIfr U qH=d a, b M3 ¢ T

o a9 al="pr=PcP—4 =1

e G.P. T UfgsT™ W3 n=t UT U9 a3 b T, M3 Add P, n UST €T JIE6e® J 3T fHT a9 P2 = (ab)™.
1

n

r

feuQ fa GP.eufI@ nue 73 W3 (n+ NI UT I 2n)T UT T @ A3 T gu3 — J|

799 a, b, c M3 d, GP. ff9 g5, 3T fey©

(@ + b%+ %) (b* + 2 + d?) = (ab + bc + cd)?

nifAdtt € Afemr=t u3T 339 fAgt § 3 M3 81 € fegag due 3 »iggH GP. YUz d= |
n+l n+l

nwﬁwwaﬁwﬁrw

a"+b"

, a3 b e fafeadt Mo (GM.) 3= |

T Aftret T 53 €ust € GM. T 6 areT T 3T four@ fq Afimret (3+2\5):(3—2\5) T MaUs
fSg =1
799 A M3 G € UE3IHA A=t & fegad gued AM. M3 GM., 9 3T fAT g9 Aftmr=t

A+ J(A+G)(A-G) TS|

fam a®99 (Culture) <9 FtdtT &t At g9 WIS g™e garet T ATET I 1799 B fee 8 f<9 30
gt At 3T gH, 98 M3 nT WIS gfE gaciaT &F Afenr faat d=art ?

500 gUE ©F IHT 10% A& Hafas fems 5% 10 s e fast I A=ait ? u3T ad |

Hod fan € w3t mitads € WBT €7 A M. W3 GM. gH=d 8 W3 5 T 3T & w3t mitdds u3T
Coll
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9.7 feHH MEPHT € n YeT € A7 (Sum of n terms of Special Series)
I WAt g9 feim WggHT € n Ut O 93 UIT a97dT, A fa
(i) 1+2+3+... +n Ufg@AT n yigsa Aftmr=t &7 73)
(i) 12+ 22+ 32 +... + n? (UGB n Uig3a Aftmr=et € =9a1 @7 743)
(i) 13+ 23+ 33 +... + 3 (Ufg@Pt n yigsa Afvmret € wet &7 79)
g feost '3 ffa-feq g9a fegrg Fdie :

nn+1)

(i) S,=1+2+3+...+n3S = (9.4 9791 F4)

(i) fEFS =12+22+3%+ ... +n?
WA I BT T K- (k- 1)3=3k2-3k+ 1
IHE T k=1,2,....n JUE '3 WAl YU3 gae I*
PB-03=31)2-3()+1
22-13=32)2-32)+1
33-23=33)2-33)+1

mw—m-1P3=3m)?2-3m+1
WP-03=312+22+32+ .. +n)-31+2+3+...4+n)+n

n3=3zn:k2—3zn:k+n
k=1 k=1

(1)5’wm°rwa—e'w1‘srzk_1+2+3+ D)
k=1
fwrg@rsn zkz ln%+3n(2+l) " =%(2n3+3n2+n)=w

i) feg S =13+23+ .+n°
ot IIIHF BE T, (k+ D - K = 4K + 6k + 4k +
k=1,2,3... n, 34 3 Wt Y3 dae It
2414 =413 +6(1)2 +4(1) + 1
3424 =422 +6(2)2 +4(2) + 1
3%=43)3 +6(3)> +4(3) + 1

m=-D*—n=-2*=4n-2P+6(n-272%+4n-2) + 1
n—m-D*=4m-1P+6(n-1)2+4m-1)+1
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n+D*—n*=4n3+ 6n2+4n + 1
¥& UH 738 3 Wl YUz dae It

M+ DA =14 =4+ 22+ 3+ . +n)+6(12+ 22+ 3%+ . +n) +4(1 + 2+ 3 +.+n) +n
=4 K +6Y k> +4Y k+n ()
k=1 k=1 k=1
FIr (i) M3 (ii) 3 WAt Aew If fa
z _n(n+1) zkz nn+1)(2n+1)

- 6
WWé(l),f@?m arnm”rt[rusraa—trw

43 K s o 4 dy OLOFDC@ED dn(at))
k=1 6 2

T A4S =nt+4nd+6n2+4n—n@2n®+3n+1)-2n(n+1)—-n
=n*+ 213 + n?

=n%(n + 1)?

for =t S = n* (n+1)2 B [n(rhtl)]2
’ " 4 4

Gegage 19: IS5+ 11+19+29+41... € nyef € A UIT I |
9% g fedte

S,=5+11+19+29+..+a, | +aqa,
Gy S,=5+11+19 +..+a,,+a, , +a,
w8 '3 At YUz d9e If,
0=5+[6+8+10+12+..+(n—-1)U<d] -
sy (n—l)[12+2(n—2)><2]

=5+m-D(n+4=n’+3n+1
fermet S, = >, =) (K +3k+1) =Dk’ +3) k+n
k=1 k=1 k=1 k=1

P @ntD) | a0t 2t d)

6 2 3
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Guaaz 20 : QA B e nuer e A3 AT AR e nS Ue n (n + 3) T
g% . fésr g a,=n(n+3) =n?+3n

femyga nuer e A3

S = iak:ikz+3ik
k=1 k=1

k=1

nn+1)(2n+1) +3n(n+1)
6 2

nn+1)(n+5)
-5

| mifemm 9.4 |

wfgM 1 T 7 3T I3 B3t @ n U @ A3 U3T JJ |

1. I x2+2x3+3x4+4x5+... 2. 1x2x3+2%x3x4+3%x4x%x5+...

1 1 1
2 2 2 + + +...
3. 3x 1 +5%x2°+7%x3°+ ... 4. Ix2  2x3  3x4
5. 52462+7%+ ...+ 202 6. 3x8+6x11+9x%x14+...

7. 1241242+ (12+22+3Y) + ...
wfPH™H 8§ T 10 I I 3T & n U=t &7 A3 UIT 9 fARET nat ye fe3r J|

8. n (n+l) (n+4)

9. n?42n
10. 2n-1)°
geas Gergget
Gergge 21 : Ha9 fan Waafef3a BT (A.P) T pt, =, 1=t w3 s ue fanrfest 3t (GP) f*R9 T
I fea@ fa (p - ¢), (- 1), (r —5) S GP. fS9 T
g%« feg,
a,=a+(p-1)d (D
aq=a+(q—1)d ..(2)
a=a+(r-1)d ... 3)
a;=a+(s-1)d )
ﬁ?ﬁ'ﬁap,aq,arm@as,G.P.%ﬂ'TS
femr wet G B Th T (g - ()
a a a,—a pP—q
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ferw 397, —F=—t=—t—t= (fag ?)
oo ... (6)

few &t (5) M3 (6) THaT q-r _1r=5 g2 (p-gq),(g-r) M3 (r—s) GP. fIT T5|
P—-q9 q-r
1 1 1

Gewge 22 . A9T a, b, ¢, GP. T T& MIgx =p) =¢c2, U I T x, 3, 2, AP. fET T& |

1 1 1
9% . W& BT a = b’ =ci=k 3F

a=k*,b=kKmM3c=k. (D
fa©fa o, b, c, GP. feg T& few st
b*=ac .. (2)

(1) M3 (2), € I3 I WAt YU Jae It
=kt far S Yu3 derd 2y=x+z
ﬁEFTB‘E"T, x,yM@zA.Rfé"HU?a‘l
Gegae 23 : 9A9 q, b, ¢, d M3 p SU-IJY IAHIfF Afmr=t few 397 95 fa
(@ +b%+ cAp?—2ab +bc+cd)p+ B>+ +d?) <0, 3 feu@ fa g, b, c M3 d GP. fE9 75
g% . fégra

(a2+b2+cz)p2—2(ab+bc+cd)p+(b2+c2+d2)S0 .. (1)
Ug o9 ymr
:(azp2—2abp+bz)+(b2 2—2bcp+c2)+(czp2—20alp+dz),
fer YUz §er T (ap - b2+ (bp— ) + (cp —d)* 20 ()

fa€fa =mafea Afgnrer @ T9ar @ 73 faeaHa &t Jer
fersst (M3 ), AT AS (ap - b2+ bp — ) +(cp —d)?=0

At ap-b=0,bp-c=0,cp-d=0
o . = b d
R Fyug derd —=-="=p
a b c

few &€t a, b, c M3 d, GP. [RT 75|
Eewae 24 : 794 p,q,r, GP. {9 75 W3 AFIE px? + 2gx + r= 0 M3 dx? + 2ex + f= 0 € A H® T&

?few@i,f,i,A.P. feg a1
. pqgr R
% : PGS px? + 2qx + r=0 € HS I&

—2q++|4q* —4rp
X =

2p
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Jfes

fa@fa p.q, r GP.ffT 51 ¢* = pr; x=—1 g _—q,dx2+28x+f=0€"'€"']');r$€al'(ﬁ@= ?) fem met

Cy

=

p p

2
d(_—"j +2€(_—qj+f =0,
p p

dg* — 2eqp + fp* =0 . (1)

(1) & pg* 3% F91 Id& M3 ¢° = pr & TI3 JI& '3

2e d
d2e fo_g  2od S
p q pr q p r
fewr wet det apfegas
pqr

N QN Ut AW N =

11.

12.

MITHTE 9 T g2ad MIFHH
feu@ fa fam AP. T (m + )@ M3 (m—n)T US T AZI m < UT T gaIeT J|
fam A.P. &t {35 fAfiret &7 93 24 W3 TI=T 440 T 3T Afeprr=t U3T F9 |
W& B9 fai AP € n, 2n, 3n Ut T H43 U9 S, S, M3 S, feu@ fa S, =3(S, - S))
200 M3 400 fegara AratT Ut Aftmiet ©r A3 9 17 7 3% I IS |
1 %3 100 f<T GUat At AYds Aftpet T AZ A3 A 2 AT S 378 FIIdT I& |
T MaT BT AShAT Afteet €7 73 J9 fAgT § 4 7% 9791 d96 3 1 gt g9eT 9= |
Ad x, ye NE B f(x + y) =flx) Ay) & AgHe qgeT fEd mfier e&s T fa

A =3mF Y, f®)=120, per fs U3t 57|

x=1
fam GP. € g% uet €@ a3 315 J, GAeT ufasT uT W3 ATST MEUT3 IHETT 5 I 2 T | wrdt ue
W3 Uet & At u3T a9 |
fam GP = ufgsT ue 1 31 319 w3 UA= U €7 83 90 I| GP. €7 AiST »igUT3 U3T &4 |
fam GP. € f3& uet € 72 56 T | Add WA gH=Td fegst 9" 1, 7 M3 21 WeTele 3T wiaaref3d
B3t YUz dae 7 | Aftret y3T J3 |
fam GP. € yet € fare3t fans AfewT 31 Aa9 ©A€ A9 uet er 63, Tid AETsT 9% yeT @ 843
T 5 JST I= 3T AT mEUTI U3T I |
fea A.P. € ufg® 979 uet T 73 56 J | WTHdt 979 UeT € A 112 | 79 fener ufgsT ue 11 I 3F
et & AfeeT u3T a9 |

Forg LADx _brox _crdv o), ot fow® it g, b ¢ 3 d GP. T 7B

a—bx b—cx c—dx
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15.

16.

17.
18.

19.

20.

21.

22.

. B TUTB nUeT T A UIT T - 3+ 7 +13 421 +31 +...
24.

25.

26.

27.

28.
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fonr GP. fS9 S, n uet & 73, P Qua™ v I<aes® W3 R €57 € €Fegy T Az 71 ffu 99 fa
P2R" = S
fam A.P. @ p=f, =T and /=T UT ST q, b, M3 ¢ J feu@ fa

(g-—r)a+@r-p)b+pP-q)=0

N 11 11 11 . . o
Hag a| —+—|,\b|—+—|c|—+—| AP, fS9 75, MU ad fa g b, ¢, AP. fST T5|

b ¢ c a a b
799 a, b, ¢, d, GP. f&9 g5 3T fHg a3 fa (@ + b"), (B" + "), (¢" + d") GP. {9 T&|
T-\Ia'érahfg’b,xz—3x+p:0€’)=-l'8'ﬂ?'§h*@c,d,x2—12x+q:0 @);I'&'U?'i,fﬁﬁa,b,c,d,GP.
fSegsIfMuadfa (g+p): (g—p)=17:151
T USTIHS Afr=t o w3 b & AM. W3 GM. € MEU3 m : n J | feu® fa

a:b=(m+ mz—n2):(m— mz—n2)

799 a, b, ¢, AP.ff9 35, b, ¢, d GP. f39 76 M3 AP fSg s 3t fMuad fa g, ¢, e GP.
feg 751

5 fedtt &3t € n et € A3 UST &3 |

(i) 5+55+555+... (1) .6 +. 66 +. 666 +...

BT 20TUT USTAT (2 x4 +4X6+6X8+...+nUT

a | =
NI»—A

1
d’

Had S|, S,, S; IHTT Ufasbrt n yrfgsa Afret @7 A3, 8at € T9a1t @7 A=, Gust € wet er
A3 I3 o ad fd 982=5, (1 +8S))

J5 ot &3t er nyetr e a3 U3T 99 ¢

P o1P+2 1P42°4+3°

+
1 1+3 1+3+5

fouw fir 1x2* +2x3% +.. +n><(n+1) _3n+5
Px2+22x3+..+n>x(n+1) 3n+l

fea famrs yarer ded 12000 guT feg ydteeT I1 89 6000 JUT &€ FAI3™S e J M gt
FHt & 500 guT &t AETeT fang 3 fewrer €0 gt '3 7 O3S &1 St At I 12% AETST
ferm €t S T T g9er J1 fans & ¢ded &t J5 faat aivg et u=alt|

AHETE &t 22000 guE &9 €T Aged ydteeT 7189 4000 quT g€ feer I M3 gwat gt & 1000
auzrﬂwfaﬂggm@ﬂarﬁﬁ ‘T ° gIFE &d1 ST IrEt I, 10% ASTET forH St @ @
IfeT gder I 1 GF & Ageq & 9% faat vz wer Jast u=ait|
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29.

30.

31.

32.

Ifea

fea femaat nru g9 fitset § U39 feuer 71 €T 999 & Gnet 5@ d9d 979 J9 femadtt &
mxﬁaﬁwaw@wxﬁfeﬁmsﬁaﬁwaf&mmmmwfwaﬁ
At 3 | feg e famm A2 fa Bt a7 82 M T U39 @ 579 9w 50 U T 3T 8 Ay I U9
g0 A’ €T 4I9 U3T I |

fea et & &9 fS9 10000 JUE 5% AS™ST ©9 &% ATUGS fom™d 3 AT Ja< | A< 3 IHT At
FI=TEt 3 T 15 A feg ©n € y3 {9 fast ot T aret W3 20 irs g7ve o& faat IHT I aret
U3T J9 |

o faaum3T WHeT gaeT J fa OF & Wits fam &7 H& 15625 JuT J, 99 A% 20% ©F €9 378 S
We At J1 5 A% gmie HHTG @7 WeTHs H& U3T od |

fam o § 39 fest feg Yar 9 BeT 150 HATT BIe I | €+ fes 4 Hags' & o 85 fe3T, 3iH
fex 4 39 FeHTTHT & o &3 3™ 3 fen 37T 397 & | g AW YT J9s <9 8 fes Tu Fae o5
3t fest @t Afunr S fan f<9 o yar 3T fapdr|

& "aIH I AT g2 J fa, “fan few € nigarg fea ufsgts &3t feg Aftrr=t &t feemar
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